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Set - B 

ek/;fed f'k{kk eaMy e-iz- Hkksiky 

vkn'kZ iz'u i= 

Model Question Paper 

tho foKku 

¼Biology½ 

d{kk & 12oha 

¼Hindi & English Versions½ 

Time - 3 hours        M. M. 75 
 

funsZ'k %& 

1- lHkh iz'u vfuok;Z gSaA 

2- iz'u Øekad 1 ls 4 rd oLrqfu"B iz'u gSa] ftlds varxZr cgqfodYih] 

fjDr LFkkuksa dh iwfrZ] lgh tksM+h cukuk rFkk ,d okD; eas mRrj fyf[k;s 

fn;s x;s gSaA pkjksa iz'uksa eas v] c] l] n] bZ ikap&ikap miiz'u gSaA 

izR;sd mi iz'u ij ,d&,d vad vkoafVr gSaA 

3- oLrqfu"B iz'uksa ds mRrj] mRrj iqfLrdk ds izFke ì"B ls gh fy[kuk 

vkjaHk dhft;sA 

4- iz'u Ø- 5 ls 18 rd izR;sd eas vkarfjd fodYi fn;s x;s gSaA 

5- iz'u Ø- 5 ls 8 rd vfry?kqmRrjh; iz'u gSA izR;sd ij 2 vad 

vkoafVr gSaA izR;sd iz'u dk mRrj yxHkx 30 'kCnksa eas fyf[k;sA 

6- iz'u Øekad 9 ls 13 rd y?kqmRrjh; iz'u gSaA izR;sd ij 4 vad 

vkoafVr gSaA izR;sd dk mRrj yxHkx 75 'kCnksa eas fyf[k;sA 

7- iz'u Øekad 14 ls 16 rd nh?kZ mRrjh; iz'u gSaA izR;sd ij 5 vad 

vkoafVVr gSaA izR;sd dk mRrj yxHkx 120 'kCnksa eas fyf[k;sA 

8- iz'u Øekad 17 ls 18 rd nh?kZmRrjh; iz'u gSaA izR;sd ij 6 vad 

vkoafVr gSaA izR;sd dk mRrj yxHkx 150 'kCnksa eas fyf[k;sA 

9- vko';drkuqlkj LoPN ukekafdr fp= cukbZ;sA 

 

Instructions : 

1. All questions are compulsory. 

2. Question No. 1 to 4 are objective type questions which contains multiple 

choice question, fill in the blanks, match the correct pairs and answer in one 

sentence. Each question have five suquestions A, B, C, D, E. Each subquestion 

carry 1 Mark.  

3. Answer the objective type questions from the first page of answer booklet. 

4. Internal options are given in Q. No. 5 to 18. 

5. Q. Nos. 5 to 8 are very short answer type questions. Each carry 2 marks. Write 

answers of these questions approximately in 30 words. 

6. Q. Nos. 5 to 13 are short answer type questions. Each carry 4 marks. Write 

answers of these questions approximately in 75 words. 

7. Q. Nos. 14 to 16 are long answer type questions. Each carry 5 marks. Write 

answers of these questions approximately in 120 words. 

8. Q. Nos. 17 to 18 are long answer type questions. Each carry 6 marks. Write 

answers of these questions approximately in 150 words. 

9. Draw neat and labeled diagram wherever necessary. 
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[k.M & v 

¼Section - A½ 

oLrqfu"B iz'u 

¼Objective Type Questions½ 

 

iz-1 izR;sd cgqfodYih miiz'uksa eas ls lgh mRrj NkaVdj viuh mRrj 

iqfLrdk eas fyf[k;s &       05 

1- ok"iksRltZu dh nj ekih tkrh gS & 

 v- iksVksehVj }kjk  c- QksVksehVj }kjk 

 l- cSjksehVj }kjk  n- ySDVksehVj }kjk 

 

2- ladVdkyhu gkeksZu gS & 

 v- ,YMksLVsjkWu   c- iSjkFkkeksZu 

 l- ,Mªhusyhu   n- Fkk;jkWfDlu 

 

3- bUlqfyu dh deh ls dkSu lk jksx gksrk gS & 

 v- ,Mhlu jksx   c- dqf'kax jksx 

 l- Mk;fcVht bUlhihMl n- Mk;fcVht eSfyV~l 

 

4- dkSu lh xSl thok'e bZa/kuksa ds tyus ls mRiUu gksrh gS & 

 v- CO2    c- CH4 

 l- CFC    n- N2O 

 

5- fpdu ikWDl fdl fo"kk.kq }kjk gksrk gS & 

 v- ,Mhuksokbjl   c- oSfjlsyk fo"kk.kq 

 l- SV-40 fo"kk.kq   n- thok.kqHkksth T2 

 

Q.1 Select the correct option – 

1. The rate of transpiration is measured by - 

 a. By Potometer   b. By Photometer 

 c. By Barometer  d. By Lactometer 
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2. The emergency hormone is - 

 a. Aldosterone   b. Paratharmone 

 c. Adrenalin   d. Thyroxine 

 

3. Which disease caused by the deficiency of Insulin – 

 a. Addison's disease  b. Cushings disease 

 c. Diabetes incipedus   d. Diabetes mellitus 

 

4. Which gas is produced on the burning of Biofuel – 

 a. CO2    b- CH4 

 c- CFC    d- N2O 

 

5. Which virus causes the chicken pox - 

 a. Adeno-virus   b. Verisella virus 

 c. SV-40 virus   d. Bacteriophage T2 

 

iz-2 fjDr LFkkuksa dh iwfrZ dhft;s &      05 

1- dSfYou pØ DyksjksIykLV ds -------------------- eas iw.kZ gksrk gSA 

2- nks U;wjkWuksa ds e/; mifLFkfr la;qXeu dks ------------------ dgrs gSA 

3- fu"kspu ds fcuk gh u, tho dk fodkl gksuk --------- dgykrk gSA 

4- ------------- Hkkjro"kZ dk izFke ck;ksLQh;j fjtoZ gSA 

5- ikS/kksa dh dksf'kdkvksa ds vfoHkkftr ,oa vlaxfBr lewg dks ----------- 

dgrs gSaA 

 

Q.2 Fill in the blanks - 

a. Calvin cycle is complete in _______ of chloroplast. 

b. The junction in between two neurons is known as ______. 

c. The development of life without fertilization is known as ______. 

d. ______ is the first Biosphere reserve of India. 

e. The unorganized group of cells of the plant known as _____. 
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iz-3 lgh tksfM+;ka cukbZ;s &       05 

 [kaM ^d*      [kaM ^[k* 

1- lk;VksØkse eas ik;k tkrk gS  1- S.T.H. 

2- o`f) gkeksZu     2- Fe 

3- o;rk dh ?kM+h    3- B.C.G. 

4- gfjr x̀g xSl    4- Fkk;el 

5- Vh-ch-      5- CO2 

 

Q.3 Match the pair – 

Column A   Column B 

1. Found in cytochrome - S.T.H. 

2. Growth hormone  - Fe 

3. Ageing clock   - B.C.G. 

4. Green House Gases  - Thymus 

5. T.B.    - CO2 

 

iz-4 ,d okD; eas mRrj fyf[k;s &      05 

1- ewynkc fl)kar dks fdlus izfrikfnr fd;k\ 

2- jkWM~l dh deh ls dkSu lk jksx gksrk gS\ 

3- Hkkjr eas oU; thou ls lacaf/kr ,DV dc cuk Fkk\ 

4- e¡wxQyh dk okuLifrd uke fyf[k;s\ 

5- dSalj ;qDr dksf'kdk cukus okyh thu dk uke fyf[k;s\  

 

Q.4 Answer in one sentence – 

1. Who proposed the root pressure theory ? 

2. Which disease is caused by the deficiency of rods ? 

3. When did the wildlife protection act was formed in India ? 

4. Write the botanical name of groundnut ? 

5. Name the gene responsible for the cancerous cell is known as ? 
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[k.M & c 

¼Section - B½ 

vfr y?kq mRrjh; iz'u 

¼Very short answer type questions½ 

 

iz-5 es:jTtw ds nks izeq[k dk;Z fyf[k;s\     02 

vFkok 

'kykdk vkSj 'kadq eas nks varj fyf[k;s\ 

Write the two main functions of spinal cord ? 

Or 

Write two difference between rods and cones. 

 

iz-6 ySafxd vkSj vySafxd tuu eas dksbZ nks varj fyf[k;s\  02 

vFkok 

iqu:n~Hkou dks ifjHkkf"kr dhft;s ,oa ,d mnkgj.k nhft;s\ 

Write two any difference between sexual and asexual reproduction. 

Or 

Define regeneration ? Give one example of it. 

 

iz-7 Lo&ijkx.k ,oa ij&ijkx.k eas nks varj fyf[k;s\   02 

vFkok 

f}fu"kspu ds nks egRo fyf[k;s\ 

Write two differences between self pollination and cross pollination. 

Or 

Write two significances of double fertilization. 

 

iz-8 tSo fuEuhdj.kh; ,oa vfuEuhdj.kh; iznw"kdksa eas nks varj fyf[k;s\  02 

vFkok 

gfjrx`g izHkko ds fu;a=.k ds nks mik; fyf[k;s\ 

Write two differences between Biodegradable and non-degradable 

pollutants. 

Or 

Write two measures to control the Green house effect. 
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y?kq mRrjh; iz'u 

¼Short Answer Type Questions½ 

 

iz-9 islesdj dk vFkZ fyf[k;s\ bls thou j{kd midj.k D;ksa dgrs gSa\  04 

vFkok 

gheksMk;fyfll dk vFkZ Li"V dhft;s\ 

Write the meaning of Pacemaker? Why it is called a life saving instrument. 

Or 

Clearify the meaning of Haemodialysis ? 

 

iz-10 lfU/k dh ifjHkk"kk fyf[k;s\ xsan ,oa I;kyk lfU/k dks fp= lfgr 

le>kbZ;s\         04 

vFkok 

gkbMªk eas izpyu dh dykckth ,oa ik'k izpyu fof/k dk o.kZu 

dhft;s\ 

Define joint. Explain the ball and socket joint with diagram. 

Or 

Explain the somersaulting and looping method of locomotion in Hydra. 

 

iz-11 'kqØk.kqtuu dks ifjHkkf"kr dhft;s ,oa bldh fofHkUu izkoLFkkvksa dk 

vkjs[kh; fp= cukbZ;s\       04 

vFkok 

chtk.M dh yEc dkV dk ukekafdr fp= cukbZ;s\ 

Define spermatogenesis. Draw the ray diagram of its different phases. 

Or 

Draw a labelled diagram of longitudinal section of Ovule. 

 

iz-12 tyh; ikS/kksa dh tM+ksa eas ik, tkus okys pkj vkdkfjdh; vuqdwyuksa 

dks fyf[k;s\         04 

vFkok 

tSo vuqØe.k dh ifjHkk"kk fyf[k;s ,oa vkWVkstsfud rFkk ,sykstsfud 

vuqØe.kksa dks le>kbZ;s\ 
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Write the four morphological adaptations in the roots of Hydrophytes. 

Or 

Write the definition of succession. Explain autogenic and allogenic 

succession. 

 

iz-13 Ård lao/kZu dk vFkZ ,oa mn~ns'; fyf[k;s\    04 

vFkok 

fuEufyf[kr dks la{ksi eas le>kbZ;s\ 

1- ck;ksikbjslh  2- ck;ksisVsUV 

Write the meaning and aims of tissue culture. 

Or 

Explain the following in brief – 

1. Biopyracy  2. Biopatent 

 

nh?kZ mRrjh; iz'u 

¼Long Type Questions½ 

 

iz-14 ja/kzksa ds [kqyus ,oa can gksus ds lfØ; K
+
 vk;u vfHkxeu fl)kar 

dks le>kbZ;s\        05 

vFkok 

ok"iksRltZu dks ifjHkkf"kr dhft;s\ xSukax iksVksehVj }kjk 

ok"iksRltZu dh nj dks ekius dh fof/k dk lfp= o.kZu dhft;s\ 

Explain the active K
+
 ion transport theory of stomatal opening and closing. 

Or 

Define Transpiration. Explain the method to determinate the rate of 

transpiration by Ganang's photometer with diagram. 

 

iz-15 vkek'k; eas gksus okyh ikpu fØ;k dks le>kbZ;s\   05 

vFkok 

jDr }kjk CO2 ds ifjogu dks le>kbZ;s\ 

 

Explain the mechanism of digestion in stomach. 

Or 

Explain the transport of CO2 by blood. 
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iz-16 ikfjfLFkfrd ra= dh ifjHkk"kk fyf[k;s rFkk ÅtkZ ds izokg dks 

le>kbZ;s\         05 

vFkok 

^xaxk ,D'ku ;kstuk* ds y{; fcUnq fyf[k;s\ 

Define Ecosystem and explain flow of energy. 

Or 

Write the target points of 'Ganga Action Plan'. 

 

iz-17 CySdeSu dh lhekdkjd fl)kar dks le>kbZ;s\   06 

vFkok 

Xykbdksfyfll ds fofHkUu inksa dks js[kkfp= }kjk le>kbZ;s\ 

Explain the Blackman's law of limiting factor. 

Or 

Explain the different steps of Glycolysis by ray diagram.  

 

iz-18 Hkkjr ljdkj dh tula[;k uhfr dks le>kbZ;s\   06 

vFkok 

fd'kksj voLFkk eas gksus okys N% 'kkjhfjd rFkk N% ekufld fodkl 

fyf[k;s\ 

Explain the population policy of Government of India. 

Or 

Write six physical and six mental development in adolescence. 
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